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Abstract

This paper analyzes the interaction between optimal environmental regulation and fiscal policy
in a setting in which a benevolent government has to raise revenue through distortionary taxes
on labor and capital income, and is unable to commit to future tax rates. The main question
I aim to answer is how the presence of these non-environmental taxes affects the social cost of
pollution, that is, the price that the government must impose on emissions in order to internalize
the pollution externality. Similar to previous studies focusing on static models with distortionary
labor income taxation, and in contrast to a first-best world with lump-sum taxation, I show that
the optimal Markov-perfect pollution tax is in general not at the Pigouvian level, i.e. does not
equal marginal pollution damage, due to the presence of additional costs and benefits of fossil
fuel use in the second-best setting. In the main quantitative exercise, I analyze the interaction
between distortionary fiscal policy and environmental regulation for the case of climate change,
using a simple climate-economy model where the state of the climate not only affects the production
process, but has also direct utility impacts. I derive the government’s generalized Euler equations
and apply a projection method to compute a stationary Markov-perfect equilibrium. I show that
the carbon tax path chosen under commitment is time-inconsistent, which follows from the fact that
the optimal pollution tax depends on the non-environmental tax structure. Moreover, I compare
the time path for the Markov-perfect carbon tax with both the first-best outcome and the Pigouvian
tax schedule. I find that the optimal tax in 2010 is only about 3.5 percent lower than in first-best.
More interestingly, and in contrast to previous studies, it is very close to its Pigouvian level, hence
the climate damages are fully internalized. This result is sensitive to the persistency of the carbon
stock, which is determined by the rate of decay of carbon in the atmosphere.

1 Introduction

The most fundamental result in environmental economics states that in order to optimally correct a
pollution externality, a benevolent social planner or government must introduce regulation that equates
the marginal (net) private benefit of emitting a pollutant to the marginal social cost. If the planner
chooses to impose a price on the pollutant, rather than directly regulating emissions by a command-

and-control approach, the optimal tax is equal to the social cost evaluated at the efficient pollution
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level (Kolstad, 2000). Hence, when designing environmental policy, it is elementary to “know” (or at
least have a good estimate for) the social cost of pollution®.

In many studies that consider a first-best world, the social cost of pollution is equal to the marginal
damage caused by emitting an additional unit of the pollutant. The optimal tax that internalizes the
pollution damage is called a “Pigouvian” tax. Hence, at the first-best margin, the marginal private
benefit of pollution is equal to the marginal damage.

In a more realistic setting, a government has to raise revenue in order to finance expenditures on
public goods. If it cannot resort to lump-sum taxation, the first-best allocation is not feasible, even if
the government is assumed to be benevolent.

This has an effect on optimal environmental taxation. It is a well-known result that in the presence
of non-environmental, distortionary taxes, for example a linear tax on labor income, a tax implemented
to regulate a pollution externality must be set optimally below its Pigouvian level?. In other words,
the pollution damage is not fully internalized and hence the social cost of polluting is less than the
marginal damage. This was first shown by Bovenberg and de Mooij (1994) and has been analyzed
by in a number of studies following their seminal paper, in particular Bovenberg and Goulder (1996).
The canonical model used in this literature focuses on a static setting with labor taxation, which
distorts the intratemporal consumption-leisure margin. In such a framework, under certain conditions,
a price on pollution exacerbates this distortion by decreasing the labor supply and thus eroding the
tax base. The optimal emission tax must account for this additional welfare cost of pollution reduction
in second-best. This is known as the “tax-interaction effect”.

A generalization of this model considers optimal environmental taxation in an intertemporal frame-
work. This is of interest for several reasons. First, while a static model is useful for the case of an
externality caused by the emission of a pure flow pollutant?, many environmental problems - first and
foremost climate change - have an inherently dynamic nature: they are caused by a stock pollutant,
which accumulates over time. Hence, there is a dynamic relationship between emissions and environ-
mental quality (or pollution damages). Moreover, intertemporal models allow individuals to postpone
or bring forward consumption through saving or borrowing. Hence, these models typically feature one
or more assets, for example in the form of physical or human capital or bonds, and thus a second tax
base. When analyzing dynamic fiscal policy, it is realistic to assume that a government can impose
taxes on income from both labor and asset holdings. In contrast, a static model cannot account for a
tax that distorts the household’s saving decision.

Finally, a dynamic model is necessary if one is interested in whether or not environmental taxation
in second-best is “time-consistent”, in the sense that the optimal tax rate announced today for any

point in the future (contingent on the realization of economic or other shocks) is still optimal once this

In the case of climate change, an Interagency Working Group of the US government recently published a report
determining the “social cost of carbon” (SCC). They define the SCC as “an estimate of the monetized damages associated
with an incremental increase in carbon emissions in a given year. It is intended to include (but is not limited to) changes
in net agricultural productivity, human health, property damages from increased flood risk, and the value of ecosystem
services.” (IWG, 2010)

2For this result to hold, certain conditions have to be satisfied, most importantly a direct effect of environmental
quality on utility and a positive wage elasticity of labor supply. Compare the discussion in section 3.1.

3Throughout this paper, a flow pollutant means that environmental quality depends only the flow rather than the
stock of a pollutant, for example in the air or atmosphere. Put differently, a unit of emission decays fully within one
period. In contrast, in case of a stock pollutant, there is some persistency over time, that is, a rate of decay less than
unity.



realization occurs. Hence, no future government will have an incentive to reoptimize, i.e. to set a tax
rate different from the one announced in the current period. This is true for a Pigouvian tax in first
best.

When considering non-environmental taxes on capital and labor income, a “Ramsey equilibrium”
that presumes that the government can commit to a sequence of future tax rates is in general time-
inconsistent, i.e. in absence of such a commitment device, the government would reoptimize in each
period (Klein et al., 2008)*. Hence, the question is how the lack of commitment affects optimal second-
best environmental taxes.

Dispensing with the commitment assumption has the additional benefit of allowing a framework
in which taxes on capital income are endogenously non-zero in the long-run. As the well-known result
by Judd (1985) and Chamley (1986) states, in a Ramsey model with commitment, capital taxes in
steady state - and, under certain conditions, on the transition path - are optimally zero. Hence, when
analyzing optimal pollution taxes in such a model, the focus is once again on the interaction between
environmental and labor taxes and the distorted intratemporal margin (Barrage, 2012). Positive capital
taxes, on the other hand, allow for environmental regulation in the presence of a distorted intertemporal
consumption-savings margin.

In this paper, I compute the social cost of pollution using a dynamic neoclassical growth model
with energy and environmental quality to analyze optimal taxation in a second-best setting without
commitment. The main theoretical question is whether or not this framework gives rise to a tax-
interaction effect, and how this effect differs qualitatively from the characterization in the static setting
by Bovenberg and Goulder (1996) and others. Put differently, I am interested in how fiscal policy affects
environmental taxation in a dynamic setting with capital as an additional (and possibly the only) tax
base, and how the emission tax relates to the marginal damage of pollution.

I then apply the model to analyze the quantitative relevance of distortionary taxation and the
tax-interaction effect in the context of climate change. That is, I compute the time path for the global
optimal carbon tax in a world with a distortionary tax on labor and capital income, which are set
optimally, and where the government is unable to commit to future tax rates. I compare the optimal
tax policy in second best with 1) the first-best outcome, i.e. when the government has access to lump-
sum taxation, in order to quantify the effect of distortionary taxes on the social cost of carbon; 2)
the corresponding Pigouvian tax, which fully internalizes the marginal damage of emitting carbon, to
see how relevant the tax-interaction effect is empirically; and 3) the equilibrium in a setting in which
the government has access to a commitment device. The latter experiment allows me to check for the
time-consistency of carbon taxes in the presence of distortionary taxation.

These comparisons are relevant when trying to determine the social cost of carbon. Many studies
estimate the social cost of carbon in a first-best setting (cp. for example IWG, 2010), often without
taking other government activities into account. However, if the second-best equilibrium under lack
of commitment is very different from the first-best outcome, these estimates may be biased, and one
should account for the effects of distortionary taxation when computing the cost of emitting carbon.
Moreover, if the tax-interaction effect is quantitatively meaningful and the optimal tax is sufficiently

different from the marginal emission damage in equilibrium, disregarding this effect and focusing on

4Under certain assumptions, however, Ramsey equilibria can be time-consistent. Compare, for example, Azzimonti-
Renzo et al. (2006).



the Pigouvian tax when designing climate policy may not be justified.

The main findings of this paper are the following: first, in a dynamic model with a distortionary
tax on capital income and lack of commitment, the optimal pollution tax rate is in general not at
the Pigouvian level. This is a generalization of the Bovenberg-Goulder result. Already in the simplest
dynamic setting, in a two-period model with exogenous labor supply and no tax on labor income, there
is an additional benefit of fossil fuel use in second best, which decreases the social cost of pollution:
increasing fuel use - and thus reducing public goods provision - leads to an increase in output, and hence
in the households’ income, which in turn allows them to transfer more resources to the next period.
This mitigates the intertemporal distortion present in this economy: households expect a positive tax
on capital in the future, and hence reduce their savings. By letting fuel use and thus pollution rise
beyond the first-best margin, the government can counteract this effect by increasing the household’s
available resources. This has positive first-order effect on welfare.

In other words, as in the static setting, the current government has an incentive to “underprovide”
public goods, i.e. to not fully internalize the pollution damage. Note, however, that the mechanism is
different: in the case of labor taxation, increasing fuel use affects the return to labor, which may have
a positive effect on labor. In the case with capital, underproviding the environmental public good does
not impact the return to current, but rather to past saving, which affects current saving through a rise
in income.

In a finite-horizon setting with more than two periods and in an infinite-horizon, I identify further
additional costs and benefits of fuel use, due to the impact of current emissions on future savings and
labor decisions, through both the future capital stock, and, in the case of a stock pollutant, the future
pollutant stock. None of those are present in the static model.

Second, the quantitative exercise yields an initial carbon tax (in 2010) which is only around 3.5%
below the first-best, i.e. the tax which would be optimal if lump-sum taxation were feasible. By 2105,
this deviation increases to around 15%. More interestingly, the second-best carbon tax is almost at its
Pigouvian level - in fact, it exceeds it slightly - meaning that the climate damages are fully internalized.
This result is in contrast to both the theoretical result for a static setting (Bovenberg and Goulder,
2002), as well as to recent empirical findings in the context of climate change (Barrage, 2012). I show
that the tax-interaction effect is less prevalent for a sufficiently persistent pollutant®, due the different
second-best costs and benefits of carbon emissions canceling out. One conclusion from this is that the
tax-interaction effect may be negligible when designing climate policy, and that the Pigouvian tax is
a good approximation to the true optimal tax rate.

Finally, the time-consistent carbon tax is in general different from the tax path under commitment.
In other words, in contrast to a first-best setting, the optimal tax chosen under commitment is not
time-consistent, in the sense that the government has an incentive to implement a different tax rate
than previously announced. This time-inconsistency is due to the interaction with other taxes: the
level of the Markov-perfect tax depends on the non-environmental tax system. If these taxes are not
time-consistent, for example in case of a zero-capital tax, neither is the corresponding carbon tax.

Methodologically, this paper is closely related to Klein et al. (2008) and Martin (2010), who analyze

the standard neoclassical growth model without environmental quality. As these papers, I focus on

5CO0., once emitted in the atmosphere, stays there for a long time. In the most simple model of the carbon cycle, a
annual rate of depreciation of around 1% is considered appropriate (Gerlagh and Liski, 2012).



computing stationary Markov-perfect equilibria. Analogous to Klein et al. (2008), I derive the current
government’s generalized Euler equations, which are weighted sums of intertemporal and intratemporal
wedges that the government trades off with each other. In order to solve for the steady state of this
system of equations, Klein et al. (2008) use a local perturbation method. However, in the context of a
long-run problem like climate change, the transition path to the steady state is of much more interest
than the steady state itself. Hence, I use a global projection method which allows me to compute a
more precise approximation of the policy functions®.

An extension of Klein et al. (2008) in this paper is the analysis of a stock of a public good, rather
than a pure flow. Note that while the application here is with respect to an environmental public
good, the analysis would be similar to the case of the stock of a non-environmental public good. For
example, one could think of infrastructure like public roads and buildings as a persistent public good,
i.e. expenditures today matter for the stock tomorrow.

In the context of climate change, numerous studies have used “Integrated Assessment Models”
(IAM) to compute the optimal carbon tax. Prominent examples are the DICE model (Nordhaus, 2008)
or the WITCH model (Bosetti et al., 2006). Golosov et al. (2011) feature a climate-economy model
more along the lines of modern macroeconomics. However, like most other studies, these models focus
on a first-best economy without explicitly modeling government expenditures on non-environmental
public goods.

Gerlagh and Liski (2012) consider a different source of time inconsistency, namely hyperbolic dis-
counting. They compute Markov-perfect optimal carbon prices in a setting without distortionary taxes,
but where the government is again unable to commit to future policies.

Closest related to this paper is Barrage (2012). She also analyzes optimal climate policy in the
presence of distortionary fiscal policy. However, in contrast to the analysis below, she assumes that
the government is able to commit to future tax rates. In other words, she focuses on pollution taxes
as part of a commitment equilibrium, with or without a zero capital tax’. She finds that the baseline
scenario without a capital tax, the optimal carbon tax is initially around 20% below the Pigouvian
tax, which in turn is almost at the first-best level. In other words, under her assumptons, the optimal
carbon tax is lower than in my model without commitment.

The remainder of this paper is structured as follows. Section 2 presents the model. In section 3,
to illustrate the main mechanisms at play, I analyze a simple two-period model. In section 4, I derive
the generalized Euler equations in an infinite-horizon setting for a stock pollutant. Section 5 contains

the main quantitative exercise, the computation of the social cost of carbon. Section 6 concludes.

2 The Model

In this section, I introduce a simple dynamic framework in which I analyze second-best environmental
taxation. Consider the standard neoclassical growth model, extended by “fossil fuel” or “energy” and
“environmental quality”. Fuel is used as a factor of production, in addition to capital and labor.

Using fuel causes emissions of a pollutant. Hence, the amount of fuel used in production determines

5As a robustness check, I verify the results using value function iteration.
TCapital taxes can be temporarily positive, due to an upper bound that binds for a finite number of periods. Alter-
natively, a permanently positive capital tax is exogenously given.



environmental quality, which affects both the utility function of the representative household - as in
the static second-best literature following Bovenberg and de Mooij (1994) - and the productivity of
the representative firm, as, for example, in Golosov et al. (2011). Producers do not take into account
how their decisions affect environmental quality, hence pollution represents an externality.

More formally, the representative household’s per-period utility is given by u(c, 1 — h, g, s), where ¢
denotes private consumption of a final good, h hours worked, g public consumption and s is an indicator
of environmental quality. The latter two are not chosen by the household, hence they represent public
goods. wu is increasing in its first three arguments, and decreasing in s. In other words, a higher s -
which will henceforth be interpreted as the stock of the pollutant associated with fuel use - corresponds
to lower environmental quality.

Note in contrast to many papers in public finance, I have assumed here that the public consumption
good is valued by the household, hence the amount provided is a choice variable of the government or
planner. This assumption is important for the infinite-horizon version of the model in sections 4 and
5 for technical reasons®. For the two-period model in 3, it is not essential, hence I will simplify the
analysis by assuming exogenous government expenditures.

The consumption good is produced with a constant returns to scale technology, represented by
a production function f, which uses as inputs capital, labor and fuel, denoted by m. Moreover, s
does not only affect utility, but has also an impact on the production process. “Net” output - taking
environmental damages into account - is given by y = F(k, h,m, s) = F(f(k, h,m),s).

I will follow Golosov et al. (2011) and assume that s enters the production function multiplicatively:
F(f(k,h,m),s) = [L—d(s)f(k, h,m), (2.1)

where the “damage function” d decreases in environmental quality, ds < 0, and 0 < d(s) < 1.

To simplify the exposition, I assume that there is no scarcity problem and so m is available at
“infinite” capacity. Hence I abstract from the Hotelling problem of how to optimally extract a finite
resource’. Moreover, let the private marginal cost of fuel use be a constant . This could be interpreted,
for example, as a constant per-unit extraction cost. More realistically, one could let the cost be a
function of the resources left in the ground, or model energy production as a separate production
sector that uses labor and possibly capital as in Golosov et al. (2011) or Barrage (2012).

In addition, using fuel has a social cost: it causes pollution, which negatively affects environmental
quality. Very generally, let s; = ¢(m'), where m' = {my, ms_1,...,my_r} denotes the history of past
emissions back to period t — T, and 9q/0m; > 0. In other words, the current flow of the pollutant
affects its stock now and in the future, and hence has an impact on future environmental quality.
Throughout the paper, I will refer to such a pollutant as a “stock pollutant”. A prototypical example
are greenhouse gases, first and foremost carbon dioxide (COsg), which stays in the atmosphere for a
very long time horizon.

In contrast, if current emissions affect environmental quality only in the current period, but not
in the future, one deals with a flow pollutant. Formally, this implies that ¢(m') = ¢(m;). Since
environmental quality is a type of public good, this case is similar to the one analyzed in Klein et al.

(2008) for valued government expenditures. In contrast to their model, however, environmental quality

8Compare the discussion in the appendix, section A.3, for details.
9In the context of climate change, fuel should be interpreted as coal rather than (conventional) oil or gas



interacts with the production side of the economy, both by affecting productivity and through the usage
of fuel.

In the analysis below, I will focus on the general case of a stock pollutant, not only because it is
the relevant assumption when modeling climate change. Simplifying the model to the flow pollutant
case can be useful at times since it allows for closed-form solutions.

The representative household maximizes lifetime utility, subject to its budget constraint, and taking

price and tax sequences as given:

T
max Z /Btu(cta 1-— ht7 gt St) (22)

{et bk} 1=

where T < 00, subject to its budget constraint:
¢t + kt+1 < [1 + (1 — Ttk)(T’t — 5)]kt + (1 - Tth)'wtht. (23)

r and w denote the factor prices of capital and labor, respectively, while 7% and 7" are the corresponding
linear tax rates. ¢§ is the rate of capital depreciation. Solving this problem yields two standard opti-
mality conditions, one intertemporal (consumption-savings), one intratemporal (consumption-leisure).

The government’s budget constraint reads:
g < mF(r =8k + Twh + 7™m, (2.4)

where 7™ denotes a per-unit tax on emissions. Note that throughout this paper, I assume that
the government has to balance its budget. In other words, it can neither borrow from nor lend to
households. The latter assumption is crucial, as pointed out by Azzimonti-Renzo et al. (2006). They
show that if the government were allowed to accumulate assets, they would be able to dispense with
distortionary taxation after a finite number of periods. Hence, even in the absence of commitment, a
government would set a zero tax rate on capital income in the long-run. The intuition for this result
is that the government could confiscate all income in the first period, and then lend households every
period and accumulate assets over time. After sufficiently many periods, the government’s wealth
would be large enough to finance the public good without resorting to distortionary taxation.

Azzimonti-Renzo et al. (2006) also argue that this mechanism does not apply in an overlapping
generations (OLG) setting where agents have finite lives, since there exists an endogenous lower bound
to taxing an “old” generation. In this paper, instead of using an OLG model, I make the accumulation
of assets unfeasible by imposing a balanced budget. In a sense, this can be considered a “short-cut”
that allows me to use a simpler setting and facilitates the analysis below.

Finally, the economy’s resource constraint is given by:
c+g+i+rm=F(f(k h,m),s). (2.5)

where ¢ denotes investment.

3 Finite Horizon

In this section, to illustrate the main mechanisms at work, I contrast the well-known result derived

by Bovenberg and de Moij (1994) and others using a static framework with a two-period model with



capital, and derive the Markov-perfect equilibrium without commitment. Throughout the section,
for simplicity, assume that the public good is not valued by the household, hence its per-period util-
ity u(c,l,s) depends on private consumption, leisure and environmental quality. Thus, government

expenditures are exogenously given.

3.1 The One-Period Model Revisited

Consider the case where T' = 0, i.e. a static version of the dynamic model introduced above. Hence,
investment is zero and the capital stock is given. Environmental quality is a flow variable. While this
static model is not appropriate to analyze long-term effects on the climate - greenhouse gases are a
stock rather than a flow pollutant - one can think of other pollution externalities, for example an effect
on air quality.

Start by defining two “wedges”, that is, distortions of the first-best margins. Let wrj denote the

“labor-leisure wedge” and wgy,, the “environmental wedge”, respectively. They are given by:

WrLL Euth—ul (31)

WEny = uc(Fm - R) + Qm[us + uch]- (32)

The first-best equilibrium, when lump-sum taxes are available, is characterized by both wedges being
zero. For the environmental wedge, this just implies that the marginal benefit of increasing emissions
net of private cost - the first term in (3.2) - in terms of utility equals the marginal social cost, i.e. the
marginal environmental damage, captured by the second term.

In a decentralized equilibrium where the government has access to a lump-sum tax, the government
can implement the first-best allocation by imposing a per-unit tax 7”* on emissions. In equilibrium,

producers use fuel such that F,, = 7" + &, hence the Pigouvian tax is given by

T = —@m [us + Fs} = 7P (3.3)
uC
Government expenditures are financed through the revenue from the pollution tax, 7*m, and through
a lump-sum tax.
Now consider a second-best setting, in which the government can only use the pollution tax and a
proportinal tax 7 on labor income to raise government revenue. Bovenberg and Goulder (1996) have

shown that the optimal pollution price in this case is given by

1
" = —m |:us —|—F$:| ) (34>
Ue T

C

where 7 is the marginal cost of public funds, which measures the social cost of public consumption in

terms of private consumption: raising one dollar in public revenue requires a reduction of n dollars in

private consumption'®.

10Formally, let v be the Lagrange multiplier associated with the government’s budget constraint in period 0. Then,
the marginal rate of public funds (MCPF) is defined as
dc ¥
g Ue
In words, the MCPF is the ratio of the government’s shadow cost of raising revenue, and the marginal utility of private
consumption (Bovenberg and Goulder, 2002). If g enters the household’s utility function, n = ug/uc.



If the government has access to a lump-sum tax, the MCPF equals unity. Then, (3.3) and (3.4)
are identical, yielding the first-best outcome with a Pigouvian tax, 7™ = 7P. In contrast, if the
government has to resort to distortionary taxes on production factors, n > 1''. This is due to the
fact that providing the public consumption good is more costly than in first-best since it is financed
through linear taxes on labor, which erodes the tax base if €, ,, > 0.

In this case, the optimal pollution tax is below the Pigouvian level, 7 < 7P. 7™

represents
an implicit tax on labor, since it reduces the real return to labor. Hence, it further decreases labor
supply and thus the tax base, thereby causing a first-order welfare loss. In other words, it enhances the
distortion caused by the labor tax (Bovenberg and Goulder, 1996), and this additional cost of providing
environmental quality (or equivalently of reducing pollution) increases with n. Put differently, in the
second-best case, it is optimal to have higher than first-best pollution, since decreasing pollution is
more costly than in first-best!2.

As noted by Bovenberg and Goulder (2002), one can see that this result hinges on the assumption
that the household derives utility from environmental quality. If this was not the case, and thus if
ugs = 0, the optimal pollution level would be identical in both settings. In other words, the externality
is not fully internalized only if pollution has a negative effect on utility'3.

An alternative way of formalizing this result is deriving a “generalized Euler equation”, following
Klein et al. (2008). The government’s problem in this economy is given by

glnagiu(F(h,m) —g—rm,1—h,q(m))
s.t. to the household’s optimality condition, u.Fy(1 — 7") — 4; = 0 and its budget constraint, ¢ =

(1 — 7h)F,h'. The two constraints can be consolidated to the implementability constraint:
0= uC(F(h,m) —g,1—h, q(m))[F(h, m) —g] — (F(h, m)—g,1—h, q(m))h =n(h,m). (3.5)
Define the function H implicitly by
n(H(m), m) = 0. (3.6)

In words, for a given resource use m, H(m) gives the household’s optimal labor supply, i.e. the labor
choice that satisfies its optimality condition. In a sense, it is the household’s “best response” to the

fossil fuel use announced by the government (assuming within-period commitment). Using H, the

"1n particular, if ue = 0, one can solve for 1 as

h —1
T
n= (17€h7wm) 5

where €5, denotes the (uncompensated) wage elasticity of labor supply. Note from this expression that 7 exceeds unity
only if both 7" > 0 - there are positive labor taxes - and €5 ., > 0, that is, labor supply increases with the wage. Compare
also Bovenberg and Goulder (1996, 2002) for a more detailed exposition.

12Note that this is a net effect, accounting for revenue recycling. In other words, the social cost of providing environ-
mental quality is higher than in first-best, even though its provision creates revenue, which can be used to decrease the
distortionary labor tax.

3Intuitively, in the case of contemporaneous productivity damages only, a marginal increase in fuel use from the
first-best level leaves output - and hence the wage - unchanged. This is not the case if there are direct damages to utility.

Y1f both the household’s budget constraint and resource constraint, ¢ = F(h,m) — g — km, are satisfied, so is the
government’s budget constraint, g < Thth + (Frn — k)m = Thth + Tmm.



government’s problem can be more compactly written as:

max u(F(H(m),m) — g — km,1 — H(m), qg(m)). (3.7)

m

Taking the derivative of (3.7) w.r.t. m gives the following optimality condition:

Ue(Fin — K) + gm[us + ueFs]| +Hom (ueFp — wy) = 0. (3.8)
—_—
WEnv wLrL

This shows that in equilibrium, the government trades off wedges. In first-best, since both wedges are
zero, (3.8) holds. In second-best, if 7% > 0, wrr > 0, hence the environmental wedge cannot be zero
unless H,, = 0. More precisely, if H,, > 0 (H; < 0), wen, must be negative (positive) in order for
(3.8) to be satisfied.

Expression (3.8) illustrates that there is in general an interaction between the emission tax and
the non-environmental tax, in the sense that in the presence of a distortionary tax on labor income,
environmental quality is not provided at the first-best margin. Moreover, whether or not the pollution
externality is less than fully internalized, i.e. whether or not wg,, < 0, depends on the sign of H,,.

For terminology, note that (3.8) contains the derivative of the policy function for labor, hence,
following Klein et al. (2008), I refer to it as a generalized Euler equations.

In the appendix, I show that if the utility function is weakly separable in environmental quality,

and hence if u.s = ujs = 0,

€h,w
Fh[l - 7_(1 + Eh,w)]

Him = (B — K+ Fsqm) (3.9)

This expression gives some necessary conditions for H,, # 0. First, a change in the net wage must

affect the labor supply decision. In other words, if the uncompensated wage elasticity of labor, €, 4,

is zero!®, so is H,,. Moreover, note that in the special case where environmental quality affects only

productivity, but not utility, the environmental wedge is given by wgny = uc(Fn — £ + ¢ Fs). Hence,
if wgny = 0, this implies that H,, = 0, so (3.8) holds with a fully internalized pollution externality.
The sign of H,, is in general ambiguous. One empirically relevant case is summarized in the

following proposition:

h

Proposition 1 In the static model with a positive tax ™" on labor income, if Fp, — k 4+ Fsqm > 0 and

1—7h

0<eéepw< s
-

labor supply increases in fossil fuel use, and hence the environmental wedge is negative:
Hpy >0 — WEno < 0.

In words, the pollution externality is not fully internalized if a higher fuel use has a positive effect -
net of the pollution damage - on output, and if the uncompensated wage elasticity of labor is positive

but sufficiently small compared to the labor tax rate.

15Tn particular, this is not the case with an additive-separable, logarithmic utility function. In this case, when the
wage increases, the labor supply remains unchanged, since the income and the substitution effect cancel out.
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In this case, using fuel has an additional benefit in second-best, apart from the usual benefit of
increasing consumption: it raises labor supply, which leads to a first-order welfare gain, as wry > 0.
This reduces the marginal social cost of pollution, so that optimal fuel use, relative to consumption,
increases compared to the first-best case in which this additional benefit does not materialize'6. Put
differently, a pollution tax below the Pigouvian level can be interpreted as a subsidy to fuel use.

In the next section, in a two-period model with capital, I show that one can derive a generalized
Euler equation equivalent to (3.8) for the case of a setting with a zero labor tax, and hence capital
as the only tax base. However, as I will outline below, the mechanism is slightly different than in
the static case. In particular, current fuel has no effect on the return to current savings, but instead

changes the amount of resources available to the household.

3.2 A Two-Period Model With Capital

Let T = 1, so the representative household lives for two periods and can postpone consumption by
saving into an asset, referred to as capital. Moreover, the government can impose a tax on the returns
to capital. As it is well-known, there is a time-inconsistency problem associated with capital taxation:
since the tax base - the current capital stock - is inelastic, the capital tax is ez-post non-distortionary
and the government treats it as a lump-sum tax. However, tomorrow’s capital tax rate will affect
today’s saving decision and hence tomorrow’s tax base. In other words, it is ez-ante distortionary.

Suppose that in the current period, the government announces a capital tax rate for next period
that accounts for this distortion, for example a zero rate. In the following period, in absence of a
commitment technology, the government has an incentive to reoptimize and to impose a higher tax
rate than previously announced!”. In this sense, tax rates set under the assumption of commitment
are not time-consistent.

There are two ways to deal with the time-inconsistency problem inherent in the structure of the
model: one is to assume that the government has access to a commitment device and thus is not able
to reoptimize in the second period. This is the assumption that the seminal work by Judd (1985) and
Chamley (1986) builds upon. Alternatively, one can abstract from any commitment mechanism and
require the government to make time-consistent choices at each point in time.

In doing so, I will focus on Markov-perfect equilibria. The basic idea of this equilibrium concept is
that only current payoff-relevant states, but not the history of states and actions, matter for a player’s
action choice.

Note that in this setting, the current goverment plays a game with its successor'8. In a two-period
model, this just implies that the current government (in period 0) will take into account the optimal
behaviour (response) of period 1’s government when solving its problem. While the current government
cannot directly choose next period’s policies, it can affect them indirectly by choosing the economy’s

state variables, here the stocks of capital and the pollutant, in the following period.

181n first-best, where wrr = 0, a marginal change in hours worked does not affect welfare.

"More precisely, if tax rates are unbounded from above, it would be optimal to impose rates such that the tax revenue
covers all government expenditures

18Since governments in different periods are identical, the current government actually plays a game “against itself”.
That is, even though I have the same government making the decisions in both periods, it must be treated as different
players, due to the lack of commitment. Equivalently, announcements in the current period about how the government
will behave in the following period are not credible.

11



In order to facilitate comparison with the static case, assume that the stock of the pollutant s

evolves in the following way:

s0 = qo(mo), s1 = q(s0,m1). (3.10)

That is, sy denotes the pollutant stock at the end of period t.
Similarly in the static setting above, the environmental wedge in period 0 is defined as the sum of

the direct marginal benefit and cost of pollution, now taking into account stock effects:
WEnw = Ue(Fn — K) + gm|us + ueFs) + Bamd, [u's + u'cFé] =0. (3.11)

Moreover, let wog denote the “consumption-savings wedge”, i.e. the distortion of the consumption-

savings margin, defined as:
wes = —ue + Pul[F} +1 -6 =0. (3.12)

In first best, when the government has access to lump-sum taxation, both wgy,, and wcg are zero.

To analyze the second best with distortionary taxes, I derive again the government’s generalized
Euler equation!?. I solve the model using backwards induction. In the second period, the government’s
problem can be written compactly as

max u[F'(k1, hi,m1,q(s0,m1)) — 91,1 — h1,q(s0,m1)]. (3.14)

h1,m1

Note that this is identical to the problem of a social planner that takes the capital stock and the
stock of the pollutant as given. Although the government does raise a tax on capital income, this tax
is not distortionary, but equivalent to imposing a lump-sum tax: in period 1, the investment decision
has been made and the capital stock is sunk. Due to the presence of this lump-sum tax, the labor tax
is optimally zero. Thus, for a given capital stock, the optimal pollution tax in ¢ = 1 is determined as
in first-best such that wgy, = 0.

Let M(k1,so) and H(k1, so) denote the policy rules that solves the government’s problem in period
1. The government in period 0 takes this function as given when solving its problem. In game-theoretic
terms, it is the response functions of the follower (the future government) in this sequential game, which
the leader (the current government) must take into account when optimizing. Note that government
expenditures are financed by the revenue generated from the tax on capital income and from the

pollution tax, hence the tax rate on capital in ¢t = 1 is given by

g1 — Fnlky, M (K1, 50), H(k1, 50), q(s0, M (k1, 50))]

T(k1,5s0) =
(k1 0) Fylk1, M(ky,50), H(k1, 50), q(s0, M (k1, 50))]k1

(3.15)

19 Alternatively, as before, one can compute the optimal environmental tax as a function of the MCPF. In case of a
flow pollutant, it is straightforward to solve for the same expression for the optimal tax in period 0 as in the static model

with labor taxation above:
T U

o1
0 = —(m |:Fs+%5:| =70+ 7 (3.13)

with the MCPF given by = 1 — %=, where £ denotes the Lagrange multiplier associated with the intertemporal
implementability constraint (3.16). Thus, the MCPF is computed differently than in the static model. Note that n > 1
if £ > 0, i.e. the MCPF is greater than unity as long as the implementability constraint has a positive shadow value.
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In the following, I assume that this tax is always positive, i.e. government expenditures are large
enough so that they cannot be financed by the revenue from the emission tax alone. To simplify
notation, let M(kl, 80) = M, H(kl, 80) = H; and T(kl, So) =1Ti.

In the first period, assume that the government can impose a tax only on capital income, but not on
labor income. Hence, there is only an ntertemporal distortion in this economy, caused by the positive
capital tax in period 1.

In t = 0, the government solves the following problem:

| max u[F(ko, ho, mo, qo(mo)) — kmo — go — k1,1 — ho, go(mo)]
1,M0,N10

+ Bu [F(k1, H1, Ma, q(qo(mo), M1)) — kM1 — g1,1 — Hy, q(qo(mo), M1)]

subject to an implementability constraint, which now combines the household’s budget constraint with

the household’s intertemporal optimality condition:
0 > Buc(Fr(1)Hy + (1 — T1) Fr(1)k1,1 — Hy, q(qo(mo), M1))
- (Fy(k1, Hi, My, q(go(mo), My))(1 — T1) — ue(Fr(0)ho + (1 — 70) Fi(0)ko, 1 — ho, go(mq)).

Using the definition of 77 above, and a similar definition for the tax in period 0, one can rewrite this

as:

0> Buc(F(ki, Hi, M1, q(qo(mo), M1)) — g1 — £My,1 — Hy, q(go(mo), M1))

(3.16)
(Fe(1)(1 = T1) — uc(F(0) — go — kmo — k1,1 — ho, qo(mo)) = e(k1,mp),
where I have omitted the arguments of the production function.
Let K(mg) denote the decision rule implicitly defined by the solution to (3.16):
e(KK(m), m) = 0. (3.17)

Similar to the static case, K can be interpreted as the household’s response function to the current

fossil fuel choice. Then, the government’s problem can be rewritten as

max ul[F'(ko, mo, ho, go(mo)) — kmo — go — K(mo), 1 — ho, go(mo)] (318
+ Bu [F(K(mg), M1, Hi, q(qo(mo), M1) — KMy — g1, q(qo(mo), 1 — Hy, My].
where My = M (K(myg), so) etc.
Taking the derivative with respect to myg, I get again a linear combination of wedges, analogous to

(3.8) in the static setting with labor taxation:
wenw + Knwes = 0. (3.19)

This equation shows that, as in the one-period model, optimal environmental policy interacts with
fiscal policy. From the household’s optimality condition, it follows that the consumption-savings wedge
weg is positive for T7 > 0. This implies that as long as current saving is affected by current fuel use,
K # 0, emissions are not at the Pigouvian level. Moreover, the sign of environmental wedge depends
on the sign of IC,,: if current savings increase (decrease) in current fuel use, wedge is negative (positive),

i.e. the pollution tax is below (above) its Pigouvian level.
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The intuition for (3.19) is similar to the static case above. First, note that since households
understand that capital will be taxed in the following period and thus their return to savings will be
lower, they consume more and save less than in first-best.

Then, if K,, > 0, by increasing fossil fuel use and thus“underproviding” the environmental public
good, i.e. by not fully internalizing the pollution damage, the first-period government can increase
current savings. This has a first-order welfare gain in second-best since wcg > 0, and hence the
discounted marginal increase in utility due to more consumption in the subsequent period is higher
than the marginal utility loss due to less consumption today.

It follows that using fossil fuel has an additional benefit which is not present in first-best. Hence,
the optimal emission tax - i.e. the social cost of polluting - does not fully internalize the utility
damage caused by the pollution externality, and hence the margin between private consumption and
environmental quality is distorted compared to the first-best. This leads to a higher pollution level,
relative to consumption. In other words, there is an incentive for the government to subsidize fossil
fuel use, i.e. decrease the tax on emissions below the Pigouvian level.

In the case with labor taxation, fossil fuel use affected the labor supply through a change in the
return to labor. Here, the mechanism is slightly different. The return to current savings is determined
by next period’s fuel use, which is not directly connected to current fuel use, at least in case of a flow
pollutant. Instead, more fuel use today affects the amount of resources available to the household by
increasing today’s capital income, i.e. the return to past saving.

Note that this result is analogous to Klein et al. (2008), who consider only not-environmental
public consumption. In general, underproviding a public good today dampens underinvestment and
thus mitigates the intertemporal distortion caused by the positive tax on capital income.

Whether or not the externality is fully internalized depends on the sign on X, which in turn
depends on the signs of the derivatives of €. In general, these are ambiguous. However, one can derive

an analytical result for two special cases.

Proposition 2 Consider the case of a flow pollutant, that is, so = q(mg) and s1 = q(mq), and assume

that the utility function depends on consumption, but not on environmental quality. Then,

’Cm =0 — WEnv = 0.

Proof K(myg) is implicitly defined by e(K(mg), mg) = 0. Differentiating w.r.t. mg gives
Ky = =2, (3.20)
€k
Taking the derivative of € w.r.t. mg yields:

em = —Ucc(0)[Fm(0) — £ + F5(0)gn)-

Assume that the environmental wedge is zero, wgp, = 0. From (3.11) with ugs = 0, it follows that

€m = 0 and hence K(m) = 0, which is consistent with the equilibrium condition (3.19).
g

This proposition is an alternative way of showing that in the absence of direct utility damages, the

externality is fully internalized even in the presence of distortionary taxes, as mentioned above.
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Proposition 3 Consider the case of a flow pollutant, that is, so = q(mg) and s1 = q(my). Then, if
M =0,T, >0 and ucs <0,

Kn>0 —  Wgn <O.

Proof As before, I have that

| (3.21)

Taking derivatives of ¢ and using Mj, = 0 yields:
em = —Uee(0)[Fin(0) + F5(0)gm] — ues(0)gm,

and
er = tee(0) + B{uc(D)[1 = T(1)] Frg (1) + te(1) [~ Ti(D)] Fi (1) + uee(1)[1 = T(1)] F(1)2.

If consumption and environmental quality are weak complements (ucs < 0), €, > 0. Moreover, if

current savings weakly increase the future tax rate (T;(1) > 0), e;» < 0. Hence, (3.21) implies KCp,, > 0.
O

This proposition can be illustrated by a simple example that allows for a closed-form solution, which
is done in the appendix.

In general, the assumptions used in Proposition 3 do not hold, and the sign of IC,, is ambiguous,
even in the simple case of a flow pollutant. In particular, a change in current savings affects in general
future public good provision (M} # 0) as well as future capital taxes (T} # 0), which in turn may
change the household’s expectation of next period’s return to capital and hence affect its current
savings behavior. As discussed by Klein et al. (2008), this may imply that the government has an
incentive to further decrease current public goods provision, thus exacerbating the distortion between
private and public consumption.

When considering a stock pollutant, even with the very restrictive assumptions made in Proposition
3 it is no longer possible to make an unambiguous statement about the sign of K. In addition to
the assumptions made in Proposition 2, assume that Ms(k1, sg) = 0 and T > 0. That is, a change in
the initial pollutant stock does not affect the amount of fossil fuel used in the second period, while a
higher stock weakly increases the tax rate on capital. Then, the derivative of € w.r.t. current fuel use

mo,
€m = _UCC(O)[Fm(O) + FS(O)Qm] - ucs(O)Qm + ﬁqugué(l)[(l - T(l))Flés + FIQ(_Tsl(l))L (3'22)

The first two terms are strictly positive, while the third is strictly negative.

For illustration, consider the special case where the two terms in (3.22) cancel out, hence K, = 0.
In this case, there is full internalization of the externality even in second-best. The intuition is that
there are two counteracting effects of increasing m. On the one hand, it increases current output and
hence current consumption; consumption smoothing then implies that the household moves some of the

additional resources to the next period, hence current savings increase. On the other hand, more fossil
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fuel use today implies a higher stock tomorrow, which decreases tomorrow’s output (and tomorrow’s
capital tax rate) and hence the return to current savings. Hence, in this case, there is no “second-best
benefit” of raising pollution above the Pigouvian level.

Since the sign of IC,,, and hence the direction of the tax interaction effect is in general ambiguous,
it is informative to solve the two-period model above numerically. For a range of reasonable parameter
values, I find that KC,;, > 0, which by (3.19) implies that the marginal damage of pollution is not fully
internalized. Put differently, there seems to be an additional second-best benefit of using fossil fuel.

To summarize, this section has illustrated that in two-period setting without commitment, environ-
mental regulation interacts with fiscal policy, in the sense that a distortion of the non-environmental
margins affects the environmental margin. Moreover, under very special conditions, one can show
analytically, under special assumptions, and numerically that the optimal pollution tax is below the
Pigouvian level, hence the externality is not fully internalized. In the following sections, I will turn
to infinite-horizon models. While increasing the number of periods gives rise to additional dynamic
effects, i.e. adds more terms to the equation 3.19, the basic logic of this expression will still apply

throughout the rest of the paper.

4 Infinite Horizon

In this section and the next, I consider infinite-horizon versions of the simple model outlined above. I
derive the government’s generalized Euler equations and show that the result obtained in the previous
section in the two-period economy carries over to the longer horizon: in dynamic models without com-
mitment, environmental policy interacts with distortionary taxation and the Markov-perfect pollution
tax is not at its Pigouvian level. In addition to the second-best effects of emissions present in the
two-period model above, I identify further benefits and cost from current fuel use due to an effect on
future public goods provision.

In the next section, in a simple climate-economy model, I conduct a quantitative analysis with
the goal of computing the social cost of carbon, which is equal to the optimal time-consistent (global)
carbon tax under distortionary taxation, and comparing it to both a first-best time path - i.e. if
lump-sum taxes were available - and the marginal climate damages. I find that in this setting, the
second-best carbon tax is below, but very close to the Pigouvian level.

Moreover, by comparing the Markov-perfect carbon tax to the outcome under commitment, I will
show that in the presence of distortionary taxes, the optimal pollution price is in general not time-
consistent. That is, the tax schedule set by a government which had access to a commitment device
is different than the one chosen under lack of commitment. Note that this time inconsistency is due
to the interaction between environmental and non-environmental taxes: as seen above, the optimal
pollution price depends on the optimal tax structure. If other taxes are time-inconsistent - for example
a positive tax on labor income in a scenario where separate tax rates on labor and capital are feasible
- 80 is the environmental tax.

To keep the exposition simple, I assume that current emissions affect environmental quality only in

the future, but not today?°, and the stock follows a simple recursive law of motion: s;y1 = q(s¢, m¢).

29T could have assumed here that current emissions do affect both current and future utility or producitivity. However,
the simpler case of future impacts only seems more relevant for climate change, where damages occur with a considerable
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4.1 First-best

In the presence of lump-sum taxation, the first-best equlibrium is characterized by the following set of

equations:
wCSE’u,C—,B’U,Ic[F]é-Fl—(S] =0 (4.1)
wrr = u; — uCFh =0 (42)
wpGg = Ug — Ue = 0 (43)
/
WeEnw = Ue(Fm — K) + Bgm vl + ul.F. — %u’c(}% — k)| =0. (4.4)
m

As before, 1 define wedges for the consumption-savings margin (wcgs), the labor-leisure margin
(wrr), and the environmental margin (wgpy). In addition, since public consumption is endogenous,
there is a wedge the public-private good margin, denoted by wpg. The first-best equilibrium is char-

acterized by all these wedges being simultaneously zero.

4.2 Second-best with commitment

Turning to the second-best setting without lump-sum taxes, start by assuming that the government
has access to a technology that allows it to commit to all future tax rates. If the government can
impose separate tax rates on income from labor and capital, as opposed to a general income tax, we
know from the seminal work by Chamley (1986) and Judd (1985) that capital taxes are zero in the
long run (steady state). Moreover, if per-period utility is separable in consumption and leisure, and
has a constant intertemporal elasticity of substitution with respect to consumption, capital taxes are
zero as of the second period.

The household takes the sequences of before-tax factor prices and taxes, {Ttk} and {Tth}, as given.

Solving its problem gives rise to the usual optimality conditions:

Uelt) = Bt + D[1+ (1 = 7)1 — )] = 0 (45)
u(t) — ue(t)(1 — M)wy = 0. (4.6)

The government’s problem can be written as

max i Blu(ce, 1 — hg, gi, St)
ka1 St htsge ety
s.t.
e+ ge + kipr < F(ke, hyymy,se) + (1 — )k (4.7)
gt < Fp()ymy + TR Fy () hy + 7F (Fr(t) — 6)k, (4.8)
St41 > q(sg,my) (4.9)

as well as (4.5) and (4.6), with w, = Fj,(t) and r, = Fy(t). That is, the government maximizes its
objective function, lifetime utility, subject to the resource constraint, its budget constraint and the

household’s optimality conditions.

time lag.
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In the spirit of the so-called “primal approach” (Ljungqvist and Sargent, 2004) I can substitute
(4.5) and (4.6) in (4.7) to eliminate taxes from the problem:

u (1)
uc(t)

+ - -0

gt < Fo(t)ymy + (1 - ) Fy(t)h

,6%?(075(721) - 1)] (Fi(t) — )kt

for t > 1. Using the resource constraint and the fact that F,,m + Fpk + F,h = F(k,h,m), this

implementability constraint can be written as
Ul(t)ht + ﬁ_luc(t — ].)k?t S uc(t)(ct + kt+1). (410)

This formulation applies to the case in which the government has access to two separate tax rates
levied on labor and capital income, respectively. Below, I will consider two additional cases. First, I

restrict the labor tax to be non-positive: Tth < 0. This gives rise to the additional constraint
uc(t)Fh(t) < Ul(t). (4.11)

Second, I consider a total income tax, i.e. the government taxes labor and capital income with the

same rate. In this case, the additional constraint reads:
Fp(t)[uc(t — 1) — Buc(t)] — B[FR(t) — 0lw(t) = 0. (4.12)

Taking first-order conditions gives rise to a system of n non-linear equations in n unknown variables
for each period that characterizes the “Ramsey equilibrium”. It is straight forward to solve for the steady
state and for the transition path, by guessing that the steady state will be reached after T periods and
hence that kr = kr_1 etc.

4.3 Second-best without commitment

Next, I relax the assumption of a commitment device, and instead look for the time-consistent sta-
tionary Markov-perfect equilibrium in this economy?'. The analysis is a straight forward extension of
Klein et al. (2008), adding a second public good, environmental quality, which in contrast to the other
good affects not only utility, but also the production process. Moreover, in the general case, it is the
stock rather than the flow of this public good that matters. Hence, compared Klein et al. (2008), there

is an second state state variable in addition to capital, namely the current pollutant stock s.

Capital income tax only For ease of exposition, I start by defining the Markov-perfect equilibrium
for the case of capital taxes only, where taxes on labor income are exogenously set to zero. In other
words, the household’s intratemporal consumption-leisure margin is assumed to be undistorted. This
may seem a very restrictive assumption. As Martin (2010) shows, however, this is a short-cut for a

more general setting in which the government has ex-ante access to two separate taxes, one on capital

21 An alternative approach would be to look for all sustainable equilibria, along the lines of Phelan and Stacchetti
(2001) or Reis (2011).
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and one on labor income. Assuming that labor taxes are bounded to be non-negative??, the equilibrium
features a zero tax rate on labour income. This is intuitive: recall that taxes on capital are ex post
non-distortionary, and thus can be considered as de facto lump-sum taxes. Hence, in the presence of
such a tax, assuming that it is unbounded, it cannot be optimal to have a positive distortionary tax
on labor income.

A Markov-perfect equlibrium is defined as a value function v, differentiable policy functions % and
#, a savings function n* and a labor-supply function n” such that for all k& and s, ¥(k,s), ¢(k,s),
n*(k,s) and n"(k, s) solve

, max w(F(k,h,m,s)+ (1 —0)k—g—K,1—h,g,s)+ Bv(k',s), (4.13)
/75,, ,g,m

subject to
uC[C(ka k/7 h7 g, m, 8)7 11— h?.ga 8]
- BUIC[C(]{}/, nk(k,a S/)vp(kl7 S/)a w(k/a S/)v ¢<k/7 3I)7 Sl)? - nh(klv 3,)7 T/J(k/7 Sl)? S/] (414)
AU [ T ), 0 ), 6 ), $FK n (K, ), 6K, ), ) — 6]} = 0,

and s’ = ¢(s,m), and where

C(k,k' h,g,m,s)=F(k,h,m,s)+ (1 —=08)k—g—K, (4.15)
and
g — Fm(ka h, m, S)m
T(k,h = 4.1
(ks hygoms 8) = 5 homos) — )k (4.16)
Moreover, for all k,
v(k, s) =ulC(k, h(k, s),n" (k, s), ¢ (k, ), 6(k, ), 8), 1 = n"(k, 8), 90 (k, ), 5)] 17

+ Bo(n®(k, ), q(s, d(k, 5))).

As outlined above, the current government plays a game against its successor, possibly itself. Fol-
lowing the one-stage deviation principle, the current government’s strategy constitutes an equilibrium
if it maximizes its objective function, subject to all relevant constraints, taking the strategies of the
other player - the future government - as given. In other words, assuming that the future govern-
ment chooses policies according to the equilibrium decision rules, it must be optimal for the current
government to follow the same policy functions.

When solving the model I follow Klein et al. (2008). Denote the left hand side of (4.14) as
n(k,s, k', h,g,m). Define the function K(k, s, g, m) implicitly as

n(k,s, Kk, s,g,m), h,g,m) = 0. (4.18)

As in the two-period model above, K can be interpreted as the household’s response function to the

current government’s policy choice, assuming that future governments follow the equilibrium policies:

22Tn other words, the government is not allowed to subsidize labor. Martin (2010) shows that subsidizing labor is
actually optimal in a setting with unrestricted separate tax rates on labor and capital. However, this seems to be less
relevant empirically than zero labor taxes.
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it gives the household’s optimal savings level if the current governments set expenditures g and a
pollution tax that results in emission level m. In equilibrium, K(k, s, ¢ (k), p(k)) = nF(k, s).

Solving the government’s problem, taking K as given, results in the following system of optimality

conditions that characterize the stationary Markov-perfect equilibrium?3:
— Bulll+ (1 =T, s n, g,m))(F,—-68)]=0 (4.19)
u; — uckp =0 (4.20)
IC/
ug — ue + Kg[—uc + Bul(F,+1—90)] — BICglC/ (uy —ug) =0 (4.21)

ueFm + Bam |ul + ulF. — qqs ulF) ] + K |[—te + BuL(F, +1—9)]

m

Ko KL dkn) 422
K, T Gmim —Am 75| =0

—B(ul, — ul) [IC m
g K, K,

where the latter two equations are again generalized Euler equations. Using the wedges defined in
(4.1)-(4.4) above, I can write (4.21) and (4.22) as a linear combination of wedges:
/

wpa + ’CgWCS ,BICg ]C/

/

IC

As before, the government trades off wedges in equilibrium. In first-best, as wog = wpg = Weny = 0,
(4.23) and (4.24) are satisfied. If the government has to resort to distortionary taxation, the household’s
optimality condition (4.19) implies that if T'(k¥',s’,h’,¢’,m') > 0, the consumption-savings wedge is
positive. Then, unless K, = 0, (4.23) and (4.24) imply that wpe and wep, cannot be zero at the
same time: in optimum, neither public good is provided at the first-best margin. Recall that for the
environmental public good, the result that wen, # 0 just says that the social cost of pollution is not
equal to the marginal damage.

Before further interpreting (4.23) and (4.24), note that all elements in these expressions are endoge-
nous and solved for simultaneously when computing the equilibrium. Moreover, for most of them it is
not possible to determine the sign analytically. Hence, the question if and how the interaction with
distortionary fiscal policy affects the optimal pollution tax and whether the social cost of pollution is
below or above the pollution damage is a quantitative one, and requires to numerically solve for the
equilibrium. This is done in the next section, in a simple model of climate change.

Here, for the sake of the argument, I make assumptions regarding the signs of the derivatives of
K. In particular, assume that X increases in k and m, and decreases in ¢ and in s, and that the
non-environmental good is underprovided, wpg > 0. These assumptions are consistent with (4.23),
the GEE for the non-environmental public good. Moreover, as I will show in the next section, these
signs are what I find when numerically solving the calibrated model.

Closer inspection of (4.24) then shows that there are additional second-best effects which were not

present in the two-period model above. Consider the effect of a marginal increase in current fuel use.

23In the appendix, section A.3, I derive the generalized Euler equations for the more general case with a total income
tax, as discussed below. For the case of a capital income tax only, the derivation is completely analogous, but with
/
WL =Wy = 0.
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As in first best, it has the usual marginal benefit - increase in current consumption - and marginal
damage, captured by wgn,. In addition, it increases current savings by &C,,,. As in the finite-horizon
model above, the second term in 4.24 captures the effect that more fuel use today allows the household
to move more resources to the next period, which increases utility in second best. Call this the “direct
second-best flow effect” of pollution.

Moreover, a higher capital stock tomorrow due to more fuel use today leads to more savings
tomorrow, assuming that K > 0. This, in turn, dampens the intertemporal distortion in the future
and hence allows the future government to increase provision of current public goods. Recall that the
reason why public goods are underprovided is that the government wants to give the household more
resources to move to the future. But doing so in the current period increases savings in the future,
thereby reducing the need to provide additional resources in the subsequent period. In other words,
underproviding public goods today mitigates the desire of the successive government to underprovide
public goods tomorrow. This is an additional benefit of current fuel use.

In (4.24), this effect is captured by the third term. Note that it was also present in the model by
Klein et al. (2008), hence does not depend on the public good being persistent. Hence, I will refer to
this as the “indirect second-best flow effect”. Under the assumptions made above, this term is positive,
and hence reinforces the direct second-best flow effect. Hence, in absence of any other effects of current
fuel use - and in particular when considering a flow pollutant - (4.24) implies that wgy,, < 0, i.e. the
pollution damage is not fully internalized.

The fourth term in (4.24) captures the effect of a change in current fuel use on the future pollutant
stock, and thus on future savings and future public good provision. This happens via two channels:
first, a higher stock tomorrow may directly affect future output and household income, and hence
future savings. This is reflected in the first term inside the brackets. Moreover, a higher stock also
changes tomorrow’s optimal fuel use, which in turn affects output and hence the savings decision as
well.

To see what this “second-best stock effect” implies for the sign of wg,,, recall that I assumed that
in equilibrium, K, > 0, K > 0, £y < 0 and Ky < 0. With only a flow pollutant, these assumptions
imply that the social cost of pollution is not at the Pigouvian level. With a stock pollutant, this is
no longer true in general: while the second and the third term of (4.24) are positive, the fourth term,
however, is negative, given that gs > 0 and ¢,, > 0 by definition of the function ¢. This implies
that the sign of the first term is now ambiguous, and possibly positive. In other words, there can be
an equilibrium that features an undistorted environmental margin (i.e. wgn, = 0), despite all other
margins being distorted, or even an overprovision of environmental quality.

Put differently, if future savings decrease as a consequence of a higher pollutant stock, then using
more fuel in the current period has an additional cost, since it exacerbates the distortion in the future,
which induces the subsequent government to reduce public good provision. This cost may partly or
even fully offset the second-best benefits of fuel use, and hence move the social cost of pollution closer

to or even above the marginal pollution damage.
Total income tax Next, [ want to consider a setting in which both the intertemporal consumption-

savings margin and the intratemporal labor-leisure margin are distorted simultaneously, i.e. where I

have positive tax rates on both labor and capital income. Empirically, such a setting appears much
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more realistic than assuming that the government finances its expenditures using only a tax on capital
income. As discussed above, however, this outcome cannot occur if the government can set different
tax rates on labor and capital, given that the capital income tax is not bounded from above.

There are several ways to modify the model such that one would get positive tax rates on both
production factors in equilibrium?*. The simplest approach, following Klein et al. (2008), is to assume
a “total income tax”, that is, restricting the government to impose the same tax rate on both labor
and capital income.

Define the best-response function H(k, g, m,s) for the household’s labor choice. The generalized
Euler equation with respect to fuel use then reads?

]C’ qs /C/ :|

/

Ky,
WEnw + Kmwes — BwpaKm /C’ E— Buw Wpg [lec, Qm, K

+ Hmwrr + Bw Km [’H < ’H’} (4.25)
+ BWLrdm {H’s ,’gf”H’ q;H/ + S’]CC,H’}

The first four terms are the same as before. In addition, a change in current fossil fuel affects both
current and future labor supply, which has non-zero impacts on utility in second-best. The first of the
additional terms, H,,wrr, captures the same effect of current fuel use on labor supply as in the static
model with labor taxation, described in section 3.1 above.

The second additional term reflects the second-best effect of an increase in current fuel use on
tomorrow’s labor-leisure wedge through a change in the future capital stock, which in turn affects
tomorrow’s labor and savings decision. The former, direct effect is captured by the term #j. The
latter effect, in turn, impacts the level of public goods provision and taxation, which also affects labor
supply, as is illustrated by the term K ’H’

Similarly, the last term in (4.25) Captures the impact of current fuel use on the future distortion via
tomorrow’s pollutant stock. Again, this affects the tomorrow’s labor supply both directly and through
its effect on future savings and hence public goods provision and taxation, as before (H/, — %7—[;) In

addition, a higher pollutant stock induces the future government to put a stricter limit on emissions,

all else equal. A change in fuel use then affects future labor supply and hence tomorrow’s labor-leisure

o)

wedge in an analogous way as changes in the capital and pollutant stock (—%’H;n + %’,CC

Taking stock To summarize, in this section I have shown that the result from the simple two-period
model, namely that there is a tax-interaction effect in a dynamic model without commitment, carries
over to the infinite-horizon case. In this setting, I have identified the second-best benefits and costs of
emissions that affect the social cost of pollution.

Note that this section has given no indication about how important the tax-interaction effect is. As
argued above, this is a quantitative question. As an application, I will therefore compute the optimal
Markov-perfect carbon tax in a calibrated climate-economy model, and compare it to the outcome in

first best, under commitment, and when internalizing only the pollution damage.

24Martin (2010) considers an exogenous upper bound on the capital tax, as well as making the utilization rate of
capital endogenous. The former is somewhat unsatisfying since it leaves the origin of the bound unmodeled. The latter
changes slightly the logic of the mechanism.

25Compare section A.3 in the appendix for the derivation.
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5 Application: Climate Change

In this section, I use the framework outlined above to compute the social cost of carbon in a global
Markov-perfect equilibrium. When modeling climate change, I resort to a number of simplifying
assumptions. First, to keep the number of states low, in the baseline model I restrict the number
of state variables to two?®, namely the economy’s capital stock and the atmospheric concentration of
CO,. Note that state-of-the-art Integrated Assessment Models (IAM) typically feature more variables
summarizing the state of the climate (Nordhaus, 2008; Cai et al., 2013). Increasing the number of
state variables is be an important extension of the analysis below.

Second, I look for stationary Markov-perfect equilibria. That is, I assume that the economy con-
verges to a balanced growth path (BGP) in the long-run. This in turn requires three features: first,
there is no substitute for fossil fuel, hence it is used forever, but is constant along the BGP. Moreover,
labor- and of energy-augmenting technical change occur at the same rate. Third, I assume that all
carbon in the atmosphere depreciates with a positive rate, i.e. no share of carbon remains in the
atmosphere in infinity.

Finally, the model is deterministic, hence I abstract from all uncertainty related to the climate or
economic development. These assumptions restrict the empirical validity of the quantitative predictions
made about optimal carbon taxes. Nevertheless, the model can be used to illustrate climate policy
under different assumptions regarding the tax regime. In this sense, while the absolute levels of the
carbon tax given below should be not be taken as precise estimates or policy recommendations, they

are informative as to whether and how tax policy matters for environmental regulation.

5.1 Carbon Cycle

When analyzing climate change, one has to model how emissions translate into changes in atmospheric
carbon concentration and temperature (the carbon cycle) and how temperature changes map into
damages to utility and productivity. The carbon cycle is commonly modeled as a function that maps
current and past global C'Os emissions, plus a vector of initial carbon concentrations, into average

global temperature change in period ¢, relative to the pre-industrial level (Barrage, 2012):
Ty = F(so, mo, m1, ..., my). (5.1)

The dimension of sy depends on the number of carbon “reservoirs”. For example, the DICE model
(Nordhaus, 2008) features three reservoirs, the atmosphere, the upper oceans and biosphere, and the
deep oceans with mixing between them. Other studies use a carbon cycle model with only atmospheric
concentration (Golosov et al., 2011; Gerlagh and Liski, 2012).

A second important modeling choice is what share of carbon emitted into the atmosphere is -
eventually - absorbed by other reservoirs, and what share remains there forever. Golosov et al. (2011)
assume that 20% of emitted carbon stays in the atmosphere for infinity, while around 48% leave within

one model period. The remainder depreciates at a rate of 2.3% per ten-year period.

25In an extension, to check the robustness of the result obtained in the baseline model, I consider the model with a
“temperature lag”, i.e. I assume that the impact of a higher forcing, resulting from a higher carbon stock, on global mean
temperature does not occur instantaneously, but instead that the temperature adapts gradually to higher forcing. In
this setting, there is a third state variable, namely the current global mean temperature.
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Gerlagh and Liski (2012) model the the atmosphere as a number of “boxes”, each representing a
share of the atmospheric CO3 concentration, where box 4 is characterized by the carbon depreciation

rate 7;. The total carbon in the atmosphere is the sum over all boxes:

sig = (L —mi)sig—1 + aimy_1 (5.2)

5t = Zsi,t, (5.3)
i

where ) . a; = (1 + p)~! and p is the share of emissions that leave the atmosphere within a short
time. Gerlagh and Liski (2012) note that three boxes appear to be sufficiently precise to capture the
important dynamics of the carbon cycle.

As a benchmark model, in order to hold the number of state variables small, T use (5.2) with one
box to model the carbon accumulation process. This allows me to limit the model to only two variable,
capital and the atmospheric carbon stock. The latter evolves recursively, according to the simple law

of motion:

se41 = (1 —mn)ss + Cmy, (5.4)

where n denotes the rate depreciation of carbon in the atmosphere.
To model the relationship between atmospheric carbon concentration and global temperature

change, consider the following simple mapping, used by Gerlagh and Liski (2012):
Ty = Ti—1 + e(p(st) — Ti-1), (5.5)

where the function ¢(s;) gives the long-run increase in global mean surface temperature for a given

atmospheric carbon stock s;. A commonly used functional form is?":
log (Sgt)
= p——"57 5.6
p(st) = ¢ log2 (5.6)

where 5 = 581GtC is the preindustrial C'Os concentration in the atmosphere. The parameter ¢ denotes
the climate sensitivity, defined as the increase in global mean temperature if the atmospheric carbon
concentration doubles and usually set around 3.

The parameter € gives the adjustment speed, that is, how much of the overall gap between current
and long-run temperature change will be closed between the current and the next period. Golosov
et al. (2011) use a special case of (5.5), with e = 1. This implies that the full impact of a higher
atmospheric carbon stock on the temperature occurs “instantaneously” (i.e. within the same model
period). Instead, the more general mapping by Gerlagh and Liski (2012) allows for an adjustment lag
with respect to the temperature change.

Below, in the baseline model, I use the specification with ¢ = 1, and hence the change in mean
global temperature is given by T; = ¢(s;). To check for robustness, in section 5.5.3, I then relax the

assumption of instantaneous adjustment (e < 1).

2TThis specification of the law of motion for temperature change is a special case of the more general approach in the
DICE model. In particular, I abstract from an impact of the temperature in the lower oceans on the surface temperature.
The function ¢(s;) comes from the commonly used expression for radiative forcing, multiplied with a parameter capturing
the temperature change for a unit of forcing (Nordhaus, 2008; Barrage, 2012).
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5.2 Utility

Following Klein et al. (2008), I assume a per-period utility function with constant elasticities of
substitution, both between consumption and leisure, and between the consumption-leisure composite
and the non-environmental public good. As it is standard in the environmental economics literature,

I let preferences between private consumption and environmental quality be additively separable:

P —v
[(1— ag)(aec? + (1 — 0)lP) 7 +agg?] & — 1
1—v

u(e,l,g,8) = +<(T), (5.7)

where ¢ is a convex function and 1" denotes the increase in global mean temperature. In words, the
function ¢ denotes the direct impact on utility due to negative In the baseline calibration, I let v — 1,
p — 0 and 1) — 0, hence the per-period utility function is separable in all arguments2®. Moreover, I
assume a quadratic utility damage due to the externality:

u(c,l,9,8) =[(1 —ag)aclne+ (1 —ag)(1 —ac)Inl + aglng] — %TQ. (5.8)

Note that this specification is convenient since it allows for the existence of a balanced growth path

(King et al., 2002) if fossil fuel is used forever.

5.3 Production

Following Nordhaus (2008) and Golosov et al. (2011), damages to productivity enter the production

function multplicatively:
F(k,h,m,T)=(1—d(T))f(k,h,m),
where d(T") denotes the “damage function”. A commonly used specification is:
d(T) = (1 +~T?)" 1412 (5.9)

For the gross production function, I assume a nested CES:

g _
1] o-1

F(k hym) = {(1 _g) (k:@(Ahh)H) T eamm)=| T (5.10)

As mentioned above, along a BGP, labor- and energy-augmenting productivity, represented by A" and
A™, respectively, grow at the same rate.

Of course, this is not the only possible specification when using a CES structure. It is used, for
example, in the WITCH integrated assessment model (Bosetti et al., 2006) and by Hassler et al. (2011).
Note the specific structure assumed here: the elasticity of substitution between capital and labor is
unity, hence they enter in a Cobb-Douglas production function. This assumption is made mainly for
simplicity: a more general model would allow for elasticities of substitution greater or smaller than
one. The elasticity of substitution between this capital-labor composite and energy is denoted by o.
This is commonly assumed to be between zero and one; in the baseline, I will set ¢ = 0.5 as in the
WITCH model.
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Parameter Value Source
Preferences
g .985 Nordhaus (2010)
o .29 Calibration
Qy 12 Calibration
Qg .018 Calibration, sensitivity
Production
o .08 Standard
0 .36 Standard
13 .03 Hassler et al. (2012)
o 5 WITCH
K .6 Calibration, Golosov et al. (2012)
0 017 Barrage (2012)
Climate
10) 3 Standard
n .01 Gerlagh and Liski (2012), sensitivity
¢ 8 Gerlagh and Liski (2012)
5 581 GtC Golosov et al. (2012)

Table 1: Baseline Calibration

5.4 Calibration and Solution

The following table lists the parameter settings for the baseline calibration.

Regarding the calibration of the parameters v and o, Barrage (2012) finds that production damages
account for about 74% of total output damages if T' = 2.5°C. From this, she calibrates v = 0.00172. I
fix this value, and then choose a; to target an first-best temperature increase of 3°C', as in Golosov et al.
(2011). I conduct some sensitivity analysis by varying the value for as and check for the robustness of
the results.

The parameters a. and a4 are calibrated such that the share of time worked and the ratio of
government expenditures to output take realistic value, with ¢g/y ~ 0.2 and h ~ 0.27.

I solve for the Markov-perfect equilibrium by approximating the policy functions n*, n*, 4 and ¢
with Chebyshev polynomials and applying the collocation method?. Compared to Klein et al. (2008),
who use a perturbation method to solve for the steady state, this global method allows me to compute
the transition path to the steady state. Given the long-run nature of climate change, the steady state

is only of little interest.

28Note that (5.8) violates the axioms suggested by Weitzman (2010) for a utility function with climate damages, since
the consumption risk aversion (or the inverse of the intertemporal elasticity of substitution) is unity.

29A detailed description of the algorithm can be found in the appendix. I check the validity of the results using value
function iteration (VFI).
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Figure 1: Optimal carbon tax - baseline

5.5 Results
5.5.1 Baseline Model

Figure 1 shows the time path of the optimal carbon price under a total income tax for the first best,
the equilibrium with commitment and the Markov-perfect equilibrium, as well the marginal climate
damage in the latter case. Table 2 contains the numerical resilts. In first best, the tax schedule starts
at $60.5/tC in 2010 and rises to $475.5/tC in 2105. In the presence of distortionary taxation, in
contrast, the carbon tax increases from about $58.5/¢tC' (2010) to $405.8/tC' (2105). Hence, comparing
the different settings for fiscal policy, the optimal carbon tax is initially only about 3.5% lower in
second-best. This gap is increasing over time, to about 16% in 2105. Moreover, the optimal carbon
tax in a Markov-perfect equilibrium is very close to the corresponding Pigouvian level, i.e. the marginal
damage caused by emissions. In fact, it slightly exceeds it by 0.9% in the baseline setting.

Comparing these results with similar studies, the initial carbon tax rates are close to Barrage
(2012), who finds $67/tC in 2015 for the first-best scenario (compared to $70/tC here) and $55/tC' for
the second-best case ($64/tC here). In 2105, however, the differences are more pronounced: for the
second-best case, Barrage (2012) finds an optimal tax rates of $541/tC.

Figure 2 displays the analogous graph for the case of a tax only on capital income. Note that first,
the absolute level of the social cost of carbon is lower than in the previous scenario, amounting to
$46.8/tC' in 2010 and $271.1/tC in 2105. Moreover, the relative deviation between the optimal tax
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Figure 2: Optimal carbon tax - capital tax only

and the marginal damage is around 5% throughout the whole time span.

What is the intuition for these results? First note that due to the distortions to both the consumption-
savings and the consumption-labor margin, the second-best equilibria both with and without commit-
ment feature lower output and lower consumption than the first-best outcome. This, in turn, reduces
the damages from climate change, and hence the absolute level of both the Pigouvian and the optimal
carbon tax under distortionary taxation. In the capital-tax-only setting, due to the smaller tax base,
the capital tax rate and hence the size of the intertemporal distortion is considerably higher than in
the baseline model, which further decreases output and consumption, and hence the monetary value
of climate damages.

Second, the equilibrium with commitment features very high carbon taxes in the initial periods,
while in the long run tax rates are lower than in both the first-best and the Markov-perfect equilibrium.
Note that in the long run, the commitment outcome features a higher total income tax and hence
lower output and consumption than the other settings (Klein et al., 2008), which implies lower climate
damages and hence reduced carbon taxes.

Third, the Markov-perfect carbon tax is very close to the marginal emission damage. To understand
this result, recall the generalized Euler equation derived above. For ease of exposition, consider the
setting with only a capital income tax:

K dm

/
WEny + ,meC’S - BW%'GICmH - BWQDGW |:’C{s - q/SIC;n:| = 0. (511)
g9 g m
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$/GtC ™ /TP Tk

Year 2010 2105 | 2010 2105 | 2010 2105
Baseline 58.4 405.7 | 1.009 1.003 | 0.191 0.181
cIT 46.8 257.1 | 0.946 0.952 | 0.964 0.704

ag=0.17 | 56.1 388.3 | 1.008 1.001 | 0.270 0.262
ag=0.07 | 60.6 423.1 | 1.005 1.002 | 0.085 0.075
n=0.005 | 74.5 517.0 | 1.006 1.001 | 0.176 0.164
n=0.025 | 353 2273 | 1.024 1.017 | 0.215 0.212
n =0.05 227 130.5 | 1.066 1.071 | 0.230 0.231

Table 2: Results
Note that from the definition of wgy,,, we have

(Fuo = ) + g B (o + 0P — B

WEnv

TplUc Tp Tp

where 7, denotes the Pigouvian level, i.e. the marginal emission damage. Then, dividing (5.11) by
Tpu. and rearranging gives an expression for the relative deviation of the second-best carbon tax from

the Pigouvian level, A,30:

]C/ !
—Bw' K 7k) — B dm | K — s 1!
Ty — T, Knwos ( BWPG mic PGK s g, ~m
A= T + ¢ 4 g . (5.12)
Tp TplUc TpUc TplUc
X1 X2 X3

That is, A, can be broken down into three terms. X; captures the direct second-best flow effect:
if I,y > 0, current fuel use increases current savings, which mitigates the intertemporal distortion. Xs
represents the indirect second-best flow effect: if it is positive, the increase in current savings due to
current fuel use leads to higher savings in the future, mitigating the future underprovision of public
goods. X3 finally captures the second-best stock effect: current fuel use increases the pollutant stock
in the subsequent period, which affects future savings, thus possibly exacerbating the distortion in the
future.

Table 3 quantifies these effects. First note that in the baseline setting, X; and Xs are positive,
implying that there are additional second-best benefits of fuel use, which decrease the social cost of
carbon. That is, if disregarding other effects, the government would have an incentive to increase
current emissions and hence to subsidize fuel use beyond the first-best margin. In this case, the social
cost of carbon would be around 5.4% below the marginal damage, due to the mechanisms described

above.

30Tn case of a general income tax, one can derive an analogous expression using (4.25):

’ K, /I q [ / q g
—BwpaKm &k —Bwpg i |Ks — =K
Tp — Tm Kmwes ( ﬁ PG m}C’g) n B PG}CQ s ., m

A,

Tp Tp Ue Tpuc Tp Ue
——
X1 X2 X3

’ ’ Kl a1 / ’ KLagr ql oy q. KL, pr

n HomwLL n BwrrKm [Hk - @Hg] n BwLLgm [Hs - ;T;Hg - EHM + aﬁqﬁg
TpUc TpUec TpUe

N——

Xy Xs X6

=0.
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T TP 2010

Year 2010 X1 X2 X3 X4 X5 X6
Baseline 1.009 | 0.015 0.039 -0.062 -0.040 -0.045 0.085
cCIT 0.946 | 0.145 0.266 -0.357 - - -

ag=0.17 | 1.008 | 0.027 0.072 -0.112 -0.031 -0.083 0.119
ag =0.07 | 1.005 | 0.005 0.012 -0.020 -0.026 -0.014 0.039
n=0.005 | 1.006 | 0.014 0.039 -0.064 -0.022 -0.045 0.072
n=0.025| 1.024 | 0.012 0.029 -0.044 -0.107 -0.034 0.121
n =0.05 1.066 | 0.002 0.006 -0.009 -0.219 -0.006 0.160

Table 3: Tax interaction effect

However, X3 is negative. That implies that the second-best stock effect results in an additional
cost of fuel use that decreases the welfare gain from higher emissions. Hence, the stock effect goes in
the opposite direction than the flow effects. Note this is qualitatively true for both the baseline setting
with a total income tax and the capital-tax-only scenario. Intuitively, there is a quantitative difference:
due to the higher capital tax in the latter case, the consumption-savings and the public-consumption
wedge increase. As a consequence, X1, Xo and X3 increase in absolute value, while keeping their signs.
However, the increase in the former two is less than cancelled out by the decrease in X3.

In the baseline model, there are additional effects due to the distortion of the labor margin, repre-
sented by X4 - Xg. Note that X4, capturing the effect of fossil fuel use on the labor supply discussed
above in the static model, is negative. This implies that in equilibrium a marginal increase in fuel use
decreases the labor supply, i.e. H,, < 0. Intuitively, in the model with both capital and labor, more
fuel use increases the return to either production factor. If the increase in capital income is sufficiently
high, the household reduces labor supply, despite a higher wage. In other words, the income effect will
dominate the substitution effect. In this case, since this exacerbates the intratemporal distortion, it is
a second-best cost of fuel use, raising the social cost of carbon and hence mitigating the government’s
incentive to increase emissions.

Next, X5 captures the effect of an increase in current fuel use and hence a higher capital stock
tomorrow (given that K,, > 0) on tomorrow’s labor supply, both directly and through the effect of
more public spending and hence a higher tax rate. Formally, these two channels are captures by the
term H) — %’H'g, where, in the baseline setting, I find that #H) > 0 and Hj, < 0. Overall, this term and
hence X5 is negative, implying that a higher capital stock tomorrow leads a decrease in labor supply.
Again, this exacerbates the intratemporal distortion in the future, and hence is a second-best cost of
current emissions.

Finally, Xg, capturing the effect of higher pollutant stock on the future labor supply through the

different channels described above, gets his sign from the term

]C/ q/ q/ IC/

! ! / /

HS—K:*;? g_q%%m+q%7KT£g>O7
g m m g

which is positive in the baseline equilibrium. Here, increasing current fossil fuel and hence tomorrow’s
pollutant stock has a positive effect on tomorrow’s labor supply, and hence mitigates the intratemporal
distortion in the future. This is a second-best benefit of resource use, which decreases the social cost of

carbon. Note that quantitatively, the latter two terms, reflecting the effect of tomorrow’s fuel use on
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the labor supply, dominate the direct effects of a higher pollutant stock. In other words, what drives
the sign here is the fact that more pollution today causes tomorrow’s government to use less energy
and hence pollute less. This reduces the household’s income, which has two effects: first, it induces
the household to increase its labor supply (since again the income effect dominates the substitution
effect). Second, it reduces savings, and hence enhances the government’s desire to underprovide the
public goods. The resulting decrease in the tax rate further increases labor supply.

Overall, in the baseline setting, the second-best benefits and costs cancel out almost exactly, leading
to an environmental margin very close to the first best. In other words, the social cost of carbon is
almost equal to the marginal climate damage. Note that this result is different from what Barrage
(2012) finds in a similar framework without commitment. In her model, the optimal second-best is

initially about 20% below the Pigouvian tax.

5.5.2 Sensitivity Analysis

To check the robustness of this result, the remainder of tables 2 and 3 contains the findings for changes
to the baseline calibration. First, I increase (reduce) the preference weight of the public consumption
good. Intuitively, when the taste for public goods rises (falls), so does the revenue requirement and
hence the capital tax rate. For a higher (lower) distortion, output and consumption, and hence climate
damage fall (rise), which is reflected in a slightly lower (higher) social cost of carbon. However, A,
remains almost unchanged, since the increase (decrease) in X, X5 and Xg is again almost completely
canceled out by an increase (decrease) in the absolute values of X3, X4 and X5.

In lines 4-6, I change the annual rate of CO4y depreciation in the atmosphere, n, which is 0.01 in the
baseline calibration. In absolute terms, the carbon tax decreases (rises) when this rate increases (falls).
The climate damage caused by a unit of fuel emitted today is less severe for a higher depreciation rate,
hence the optimal carbon tax is lower. This also affects the capital tax rate: for a higher rate of decay,
the government generates less green revenue and hence must impose a higher tax on income, which
exacerbates the distortions in the economy.

With regard to the tax-interaction effect, note that only X4 and Xg increase in absolute value
as 7 rises, although with different signs. For example, when n = 0.05, the size and direction of the
tax-interaction effect is almost completely determined by the sum of these two terms. At the same
time, X7 is almost zero, which reflects a very small effect of fossil fuel use on savings, i.e KC;;, =~ 0.

To understand these results, first note that as n decreases, the effect of an increase in current fossil
fuel use on the net wage is less pronounced, for two reasons. First, the increase in the gross wage
becomes smaller, since more fuel is used for a higher 7, which reduces the marginal product. Second,
due to the higher income tax, a larger share of the gross wage is taxed away. Below a certain threshold
for 1, a marginal increase in fuel use reduces the net wage, which in turn leads to a fall in the labor
supply. This dampens the rise in total income, so K, is smaller. If it total income decreases following
an increase in fuel use, the effect on current savings may even be negative.

This describes the outcome for n = 0.05. Here, C;, is very small, due to an almost zero increase in
total income. As a consequence, X1, Xo and X3, all of which depend K,, tend towards zero. On the
other hand, H,, is negative and different from zero, due to a negative effect of increased fuel use on the

net wage. The same is true for M/, in the subsequent period, which mainly drives the increase in Xg.
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Note, however, that Xg decreases in 7, hence there are two counteracting effects on Xg. This explains
why X, increases (in absolute value) more strongly than Xg. Overall, for n = 0.05, the second-best
costs of fuel use outweigh the benefits, and hence the social cost of carbon ezceeds the marginal climate

damages in equilibrium.

5.5.3 Temperature Lag

So far I have assumed that a change in radiative forcing translate into a higher temperature instan-
taneously, i.e. one period. More realistically, temperature adjusts to a higher forcing with a lag
(Nordhaus, 2008; Gerlagh and Liski, 2012). That is, let the global mean temperature change evolve
according to the following law of motion:

log (%

Ty =Ti—1 +€(o logZ) —Ti1), (5.13)

where the adjustment speed € is less than unity. I follow Gerlagh and Liski (2012) who set € = 0.186
for ten-year periods>!.

Note that in this case, since there is no longer a one-to-one mapping between atmospheric carbon
concentration and temperature change, there is one additional state variable, namely temperature
change in the previous period.

Figure 3 shows the time path for social cost of carbon in first and second best, as well as the
second-best marginal emission damage. First note that in all scenarios, the optimal tax is lower than
in the baseline setting: the second-best (first-best) tax starts at $34.1 ($33.6) in 2010 and increases to
$254.3 ($294.9) in 2105. Due to the adjustment lag, a large share of climate damages occur at later
periods than in the baseline, which implies that the cost of carbon decreases, due to discounting.

Moreover, the result found in the baseline model that the tax-interaction effect is quantitatively
irrelevant, is robust to the lower adjustment speed: as before, the social cost of carbon is almost equal

to the marginal emission damage, and hence second-best benefits and costs of resource use cancel out.

6 Conclusion

In this paper, I have analyzed optimal environmental regulation in a dynamic framework in the presence
of distortionary non-environmental taxes and under lack of commitment. Most importantly, I have
characterize the tax-interaction effect in this setting: by deriving the generalized Euler equation of the
current government, I have identified a number of additional costs and benefits that arise due to the
interaction between environmental policy and distortionary taxation and that are not present in first
best. Hence, in general, the social cost of pollution is not at the Pigouvian level, i.e. does not equal
marginal pollution damage.

Moreover, by computing the Markov-perfect emission tax in a model of climate change, I have
quantified the impact of distortionary taxation and the tax-interaction effect on the social cost of
carbon. My main findings are that the second-best carbon tax path is different from the optimal

policies both in the presence of lump-sum taxes, and under commitment. Moreover, it is very close to

31Gince I calibrate my model to five-year periods, I set e = 0.1, which corresponds approximately to an annual
adjustment rate of 0.02, used by Gerlagh and Liski (2012): 1 — 0.0204'° = 0.186.

32



Social Cost of Carbon

300 T T T T T T T
First-Best (Lump-sum tax)
=—8— Markov - Optimal
----- Markov - MD
250 -
200
&)
=
% 150
e
[
'_
100
50 -
| | | |

0 I | | I |
2005 2015 2025 2035 2045 2055 2065 2075 2085 2095 2105
Year

Figure 3: Optimal carbon tax with a temperature lag

the Pigouvian level, hence for my calibration, the climate damages to utility and productivity are fully
internalized.

It should be noted, however, that the results from this quantitative exercise likely suffer from the
simplicity of the climate-economy model used here. In particular, there are two dimensions in which
the model should be improved and which are currently work in progress. First, as discussed above, the
climate model is considerably simple, in the sense that it is stationary, features only two states and
does not address uncertainty. A more realistic climate model would increase the number of carbon
“boxes” in the atmosphere, each with a different rate of carbon depreciation, to at least up to three
(Gerlagh and Liski, 2012). Moreover, one should divide the model period into two phases: a finite
number of periods in which fossil fuel is used, and an infinite-horizon phase without fossil fuel use,
during which the climate approaches a stready state. This is the modeling strategy for example in Cai
et al. (2013).

Second, throughout this paper I have considered a one-country model of fiscal and climate policy.
In reality, there is no global government, and taxes are set on the national level. Since emissions in one
country affect each other country, there is scope for strategic interaction. Hence, it may be interesting
to extend the analysis above to a multi-country setting, in which a country, when choosing its policies,
takes the behavior of all other countries as given. In other words, this would result in a model with
both lack of commitment within a country, as well as lack of coordination across countries.

Finally, fiscal policy usually features different tax rates on labor and capital income, hence the

33



assumption of a total income tax seems too restrictive. Recall that this assumption allowed me to get
a positive tax rate for both types of income. There are other ways to obtain this outcome in equilibrium,
as discussed above. In particular, one could get an endogenous upper bound on the capital tax by
assuming a two-country setting, with or without strategic interaction, but with capital mobility. That
is, if one allows capital to be reallocated between countries after the tax rates have been announced,
this would put an upper bound on the capital tax and hence may require a positive labor tax. This

extension is currently work in progress.
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A Appendix
A.1 Static Model: #H,,

To get to an expression for H,,, write the government’s problem as

max u(F(h,m) — g,1 — h,q(m)) (A.1)

m,h

s.t. to the implementability constraint
U(h>m) = UC(F(h¢m) -9, 1- ha Q(m))[F(h? m) - g] — U (F(ha m) -9, 1- h> Q(m))h =0. (A2)

Define H(m) implicitly by n(#(m), m). Taking the derivative w.r.t. m gives

nhHm + Mm = 0 — Hm - _nﬂ. (A3>

TIh

Taking derivatives of n gives

Hm = _Im = — UccCl i + ucFm — ualimh
m Nh uCCCFh_uClc+uCFh_uchhh+Ullh—ul
UeeC + Ue — 'LLClh,

muccﬁ)h(u? + TFh) — UCZ(C + th) =+ (uth — ul) + u”h

_F UeeC + Ue — Ugh
" FpteeC + tee®?h — ug (¢ + TER R + ¢) + TucFy + uph (A.4)
- _F UeeC + Ue — Ugh
" Fy (e — tah + ue) + h(Uee®? — 2uq® + uy)
UecCHUc—Uch
uceﬁ)Q—ZuclﬁH—u”

__Fm(Fh—%)M—i_h’

UeeW? —2Ug WUy

where I have repeatedly used ¢ = (1 —7)Fph = wh. Note a special case following from (A.4): if uyg =0
and the utility is given by u(e,l, s) = log(c) + v1(l) + v2(s), we get

Uecc+c—ugh=0 — H,=0. (A.5)
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Next, note that from the household’s intratemporal optimality condition, taking the net wage w as
given, I can derive the partial-equilibrium response in the labor supply to an increase in the wageby

totally differentiating:

uc(ﬁ)h, 1—h, q(m))u?h — (ﬁ)h, 1—h, q(m)) =0. (A.6)
db[uceh 4 ue — ugh] + dh[?tee — Wit — g 4 uy] = 0
@ _ UecCtuc — ugh (A7)
do UeeW? — 2UuqW + Uy

Hence, the (uncompensated) wage elasticity of labor supply is given by:

dh w UeeC + Ue — Ugh W
€hw=—""=7 = ———= = —. (A.8)
’ dw h UeeW? — 2uqW + uy h

Substituting in (A.4), we get

h
€h,w g Chw
Hy = (F + Fsq — = (Fm + Foq ’ ’
m ( m s m)—(Fh—%)eh,w%"i_h ( m s m)(l_T)Fh_TFhEh,w
and hence
€h,w
Hm:(Fm+FSqm) (Ag)

Fpll =7(1+ epw)]

A.2 Analytical Example

This section follows the example given by Martin (2010) in a model without fuel and environmental

quality. Let

[0
U(C,g, 3) =a.lnc+ ag]ng _ 7mm2'

This functional form accounts for an increasing marginal damage of the pollution stock. Note that
in order to get a closed-form solution, I now assume that public good consumption is endogenous,
as it enters the utility function. This does not change the results of the model above qualitatively.

Moreover, assume a Cobb-Douglas production function:
f(k,m, ) = K?m ht=0=7, (A.10)

where h = 1 is given.

In a first-best setting with lump-sum taxes, optimal fuel use can be computed as:

mo = \/Ozn(ac+ag)(1+ﬁ9) (A.11)
myp = O[l(ozc + ay), (A.12)

Note that for the particular functional forms used here, equilibrium fuel depends only on parameters
and not on the economy’s capital stock. The same is true for the capital tax rate in period 1, hence

the assumptions in Proposition 3 are satisfied.
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The government’s problem in period 0 reads:

Co’ﬁggfmo u(co, go, mo) + Bulci, g1, m1) (A.13)
subject to

k1 = vo(kgmy — go) (A14)

co = (1= o) (k§mg — go) (A.15)

¢ = p1kim] (A.16)

g1 = (1= py)kim] (A.17)

m1 =/ amy(ae + ay). (A.18)

where p; and vy are functions only of parameters. The first two equations follow from the household’s
Euler equation and the resource constraint in period 0. The remaining four equations are the solutions
to the government’s problem in period 1.

When solving this problem (see appendix), I find that the margin between consumption of the

private good and both of the public goods is distorted. That is, ug = u.{)o, and
U + Qotefrm = 0, (A.19)

where

BO(ae + g) +
B0+ ) (e + ag) + o — BO‘Q'

Qp = (A.20)

Note that under the particular functional forms chosen here, fuel use is at its first-best level, as given by
(A.11). Hence, there is no underprovision of the environmental public good in absolute terms. However,
with Qg > 1, private consumption exceeds its first-best level, implying that savings must be lower.
This confirms that the fuel price is below its Pigouvian level: in first-best, a higher consumption would
optimally require a higher environmental quality (or equivalently less pollution). Hence, the fact that
fuel consumption remains constant while consumption increases, compared to the first-best outcome,
implies that pollution exceeds its Pigouvian level. In other words, the public good environmental

quality is underprovisioned relative to private consumption (as is public consumption).

A.3 Derivation of the GEE in the Infinite-horizon Model
A.3.1 Markov Equilibrium - GIT

Let the equilibrium policy functions for saving, hours worked, fuel use and government expenditures
be denoted by n*(k,s), n*(k,s), ¥(k,s) and ¢(k, s), respectively.
Define the residual functions that capture the household’s optimality conditions when set to zero:
77(]‘3, $,g9,m, kla h) = uC[C(ka k,a h).gv m, 8)7 1- hv g, 3]
— BuLlC(K (K, '), p(K', ), (K, ), 6K, ), 8), 1 — (K, '), (K, '), o (A21)
AU W K, K ), S ), R 0 (K, o), (K, ), 5) — ]}
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and

kK h L
G(k,s,g,m, k/,h) _ ul[C( s vy 7gym78), 79’5]

— By (k)1 = T(k, h | A2
uc[c(kvklvh7g,m,8),1—h,g,s] h( ) )[ ( s ,g,m,S)] ( )

That is, n(k,s,g,m,k’,h) = 0 gives the household’s Euler equation and e(k,s,g,m,k’,h) = 0 the
household’s labor-leisure condition.
Define functions K(k, s, g,m) and H(k, s, g, m) implicitly by
n(k,s,g,m,K(k,s,g,m), H(k,s,g,m)) =0
E(k? 87 g? m7lC(k7 S?.g? m)’/H(k:? 87 g? m)) = 0
Using those functions and
C(k,s,k',h,g,m) = F(k,h,m,s) + (1 = 0)k — g — ¥/,

write the government’s problem in ¢ compactly as:

o max uw(C(k,s, k' h,g,m),1 —h,g,s)+ pv(k,s),
/8" h,gm

s.t.
s' = q(s,m)

K =K(k,s,g,m)
h=H(k,s, g,m).

or

maxu[c(k7 S? IC(k, 8797 m)? 7-L(l{:7 87 g7 m)’g7 m)7 1_%(k7 8797 m)? 97 S] +ﬁv[l€(k, 87 g? m)7 q(87 m)]? (A25>

g7m
where

v(k,s) =ulC(k, h(k,s), nh(k, s),(k,s), o(k,s),s),1— nh(k, s),¥(k,s),s)]

k (A.26)
+ Bu(n®(k, 5),q(s, ¢(k, 5))).

Taking f.o.c. yields:
—uc(Kg — FpHg+ 1) —wHg + ug + vy =0 (A.27)
— UK, — FyHm — (Frn — K)] — WM + U + [0 Ko + vigm] = 0. (A.28)

The derivatives of the value function v(k, s) with respect to k and s read:
vk = Uc[F + 1 — 6 — Ky + FpHi) — wHy + Bup Ky, (A.29)
and

Vs = uc[Fs —Ks + FhHs] —wHs +us + B[’Ul,clcs + U;QS]' (A.30)
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Note that at this point, one can see why I need a second endogenous public good in addition to

environmental quality. If government expenditures were exogenous, I would have only one first-order

condition above, namely (A.28). However, in order to substitute for v, and v} in (A.29) and (A.30), I

need two equations; (A.28) alone would not be sufficient. From (A.27) and (A.28):

1

g

Bui =

ng = qin [UC(ICm — FyHo, ( )) + uHm ng
1 Km
= —— [wel Fy o + (Foy — 1)) = wHo + 2
Qm|: (Fh, ( ) —w K,

Inserting (A.31) in (A.29) and updating gives:

v, = ul(Fy +1—0) + Hy(u.F}, — up) — ul —ul + ”H’g(u;F,'l — ug)]

e
Kyt
Similarly, (A.32) in (A.30) yields:
l 7_{/ q/ Hl
vl =ul +ulFl — “Sul(F — )—l—(u’—u/c)[—S—Fs m}
Hy  aqn My

9
m

IC; / / qSIC /
K 17’” m g K o

Finally, substituting (A.33) for v, in (A.27) gives:
ug — e + Hg(ucFp — w) + Kg[—uc + Bue(Fy + 1 = 6)]

/

Ky,
9y { M = o) TR P =)+ =] } =0

H%mwﬂ%

Moreover, substituting (A.34) for v/ in (A.28) yields:

Ue(Fyy — K) + Bam [u +ulF, — 22Ul (F — )] + Hon (ucFp — wy)

m

— iy

+KmF%+B%U%+1—®%HWé—%JPK (A VAR V)

,C/ /
IC/
Using the wedges defined above, these two equation can be written as

/ ’C/

Q]C/ ]Cig H/:|

+ Blcm(U,cF}/z - u;) |:H;€ K/
g

wpa + Kgwes — BK pr—f-/ngLL +BWLLIC |:/H;c

and
K, K, 4K,
WEn + Kmwes — BWPG’C /C/ /BWPG |:Qm IC/ qm%lclg:|

K’
+ Hmwrr + ﬁw/LLICm |:/H2; — ,Cff/H;:|
K LK
+5W,LLQm |:7‘t/ ,C,S e 77‘[, + K:/,H/:| =
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IC/ K:’ qs ,C/ :|

(A.31)

o]

(A.32)

(A.33)

(A.34)
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